103. The area of a semi-circle of JEadius 7cm.1s’
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. 1 i as her wh
v is now twice as old as his sister, four yeara ago, he was thrice as 01_“ . e W'ha@

their ages now?

(A 18,9
B) 14,7
) 16,8
) 12, 6 _ . B

S ouwafla sHEUTMSW WIS DTS srumsden auwmsiGure Qo WwLBE, 4 RIQag
ey Bjeueng) UG <D{GUET g,rémmasuﬁleh‘r cuwengLIGUITe ppem OLTRG crafeo, &G\Jﬁai_mgl g@@pm

GUUIG;) GTEDTEN?

@) 18,9
®) 14,7
© 16,8
O 12,6

111, 4¥2.9-=16: Jx . What is the value of x?

(A) £16
B)* +3
C 4

27 :9=16: Vx arafly X & i) eremenn?
A) 16
® 3

©) +4
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112.

113.

Total surface area of hollow hemisphere is equal to

33

A) 2”(32 +r ) $q. units
B): ZW(R - "2) §q. units
0) zr(3R2 + r2) 8q. units
(D) IZ‘(3R2 - r"') 8q. units
o aretL D Siawrs Careargen Qursls yprugly = '
(A) 271’(R2 F ?‘2) &, SO GSET
(B) . ( 2) &, <9|Go@a;srr
(C) (3R2 + 1"2) g, aa)@a;cﬂ'
(D) #(3R*-r?) e SOGsET
The probability that a leap year will have 53 Fridays or 53 Saturdays is
(A) 7
. 2
® =
4
D) —
(D) - |
@@Gﬁ’u LGS 53 Qeucrafsdipaioser Sidwg 53 safl &8ipaoadT aiBesHETET Hapsse) sSTas
. l '
A i
A4) Z
2
B) =
3
o 2
(©) =
4
D) 7
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) i | 2 " +8 'is
Factorization of (+ y)+9(x+Y )

(A) (x+y+1)(x+y)
. (x+y'+1)(x+y+8)'
© _(x+y+1)(+y+6) ;
(D) '(x+y+8)(x+y+-2)

o 3:')2 £ 9(s-+ 9)+ 8~ smy@hsdT
@ (x+y+D(x+)

B) (x+y+1)(x+y+_8)

©) (x+y+1‘)(5c+;y+6)

M) (x+y+8)(x+y+2)

What is the difference between the sum of first ‘n’ odd natural numbers and that of

‘n’ natural numbers?

@ §+ 1 N
© Mntl) | D) (+1)@n+ 1)

2 ' - 6

©sd ‘N Giherp G ereimseficn a@gga;@,m wse ‘n’ @u_lev s aficn &@:5@215@"3
Gﬁlﬁﬁmn&mmmm?

& ‘ DR
(A) > +1 | | _ _ . (B) n(nz_ 1).
- © M+l N | |
. 8 ‘ (D) n(n +1)(2n +1)
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el the following ; . '
‘W}“Ch B N8 18 arranged in correct ascending order?

925% of 8, 4

0% ‘
3 . of 6, 30% of 9, 20% of 15 o

0, ° |
@ 20%0°f15 25%of 8, 305 o9 405 ofe

30% of 9,

o _
& 40% of 6, 25% of 8, 20% of 15 ‘

o) 20% of 15 30% of 9, " 40% of 6, 25% of 8
lgdrm@ﬁucﬂm!b@lw TSl #flwimen Tneuflensulico SN DpFETaTg)?
@) )8®256%, 6&40%, 9530%, 150 20%

B 15020%, 8625%, 96 30%, 6 40%
©) 9®30%, 6 40%, 8 25%, 15@ 20%

O 15020% 9030%, 640%, 86 25%

117. Which of the following is larger in area? -
(A) A triangle with base 10 cm and height 8 cm
(B) A triangle with sides 12 cm, 5 cm and 13 cm

(C)- An equilateral triangle whose sides are 10 cm each

(D) = Aright angled triahgle whose sides containing the right angle are 3 cm and 4 cm

QenaumeuareupeT LIFLILIeTalled Quilwg ergi?
A)  eguussd 10 Qsil, 2wrd 8 Q&S QararL (p&GsTen D
(B) 12Qss8, 5 Qs wpmd 13 QLB LIGaRIEET 26T p&EGaETamTD

10 Q& LS o drer sLOLES PECHTETD

. D) QsaGsramsms o craTL AL LEsHET 3 Qs whpd 4 Qe o-cran (péGanam
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The arithmetic mean of a group of 75 observations was calculated as 27, It was late,

- The ari : - . te
, " g d as 43 instead of the correct value 53. Qhta:

ion was wrongly read : - Obtajy

that one observatio _ t

correct arithmetic mean of the data.

(A) 26.13

" ®) 4713

i

/ ’ 0)+ 28.13
®) 2513

75 aamsmends Qarar. @@ Csneduear srrefl 27 erand samsdL Ul Lg. Qemy, 53 ey o
saupisOTs 43 ey L SsUULL g Genart a;s&sr@éh:_;.ésasuuf_l_gj. ararGel, 2E0sTEGS e sy,

syrFflenwé sremreyL.

(A) 2613
.
©) 2813
D) 25.13

119.. A sum of money triples itself at 8% per annum over certain time. The number of year:

equal to
A) ~ 24
@)
© 20
@) 12 |
TESDET YT HEET (1ig 6l R @[mtllﬂl'_L_ a&m&sﬂg 8% aul_ig. cissded égosisrgu mL_réjasrf@Lb
@ 24 * |
25

20

12 .
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15.9 ' The cylinder whose base is not in circular form is callgd
(A)  Gircular cylinder
(B) Right circular, cylinder:

(@ Oblique cylinder

(D). Irregular cylinder

G 2 (henaTuden 2jigILITSLD UL aulg efleéd @mmm erafled 218 m@mng.@;mmmu@m
A el o (Hever | -

B) Coireul 2_(menar

(O smuey i@jmm

(D) RPEISDHD g@mm RE : \

160. 10 Sql.n-l..i_s equal to
(A). 100.sq. cm.
B) 1000 sq. cm. -
(C) - 10000 sq. cm. st o
@ 100000 sq. c¢m. | . 4 L i ‘
1015” aéngy argpe sibin? R . R ”
@A) 100 Qss? | R e
-(B) 1000 Qss?
© 10000 Ge®
(D) 100000 Qe8>
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. is often dr: id '
e rawn as a guide, so that a frequency polygon c¢an be drawn ovef

16 *
the trOP'

(A) Fre que ncy -

Histogram

©) -Cumulative Frequency

o Rectaﬁgle

apQesein UOCATETD QL G aifan. s () BEOUS
@) Peplasn |

®) ﬁ,]g;@@@éﬁm Q&e‘um&n’n

©) Galey HsbOeudr

D) Qeducuad

162. VIf 100 persons can ﬁnish a Work'in 7 days, how many persons can finish the same worl
35 days? B :
20 persons
(B) 50 persons
(C) 30 persons
(D) 25 pérsons |
100 ggpl;mi'r a(m Couameen 7 pr_sefld Ply 555 En.GLb aafld 265 Ceuenavanw 35 prlsafied @piy
TESMETLI Gu G;ajsmmuu@mr'r‘? | '
(A) . 20 s,
(B) 50 gyLae
(C) 30glser .
D) 25 gL s6
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163. What percent of an hour is 36 seconds?

A) 6%
3

© 10%

D) 36% |

36 aflammig. GTGiﬁl_léj (1 Wanfluiler erggamen F56151D AGWD?

A 6%
B 1%
© 10%

(D). 36%.

® -1
(C) m+n+l
1
(D) ’ - _m+n+l
e m+n ;x_n_]n**l. [_:X_«'I_J“m:
@ 1
® -1 ‘
(C) mfn+l
D) s o
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g A=+ B=% C=xanq p

~ 1k o o
°n What is the valye of LC2BL AL DL =2

@2-1- | 5 "5 5 10

166.

w)-LZ

@ 2o

® L6

i P el B s A S U T
D qnug@an —aramoyd Gsmaim ey ~coplalpl “ 3

5. "6 5 10

@ 21
® 12

© 25

@ 16

| 3 g @

The value of : ;;JSZSL?
- (A) -,3x—1

B) 3(x+1)

‘ @ 3(x-1)

() 3$c+2

x3_1+xz+x+lmm§u;4

x+3 3x+9 :

@A) 3x-1

®B) 3(x+1)-

© 3(x-1)

M) 3x+ 2

59 GR2AT/Y
' ‘ ) [Turn-ove
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2 .2 B2 7
ex,xsl,xsx, ?

th term of the sequenc

167. What is the 85

. 85 4

@ ** . 1
® «?
o
D) x-44

. : a 8 o myliL| GTEmen?
x, 272, %, %%, e Qpmii euflosulieir 85 ] -

]
@) x°
_4_§
®B) x?
(C) - x43 %
NOES i

168. The radius and the slant height of a cone are respectively ¥ and ‘I'. What is the volumu

. the cone? .
®) %mm ‘
© ° =rl | ‘ K
D zr(+r) |
M b1 ygid mﬁ@lm FTUWIpLD (gpcm(ﬁuJ "r’ wpHmid U &mﬂd) Sbl9en sansiaTay srsifrsur?

(A) _1,_7”,2 /l-'———z e b

3
(B) %nrzm

_.’f_ri '

) ’"U +7)
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169- , 95, 90, 85..... 7
0
a1 p
) 2(3
@) °
‘(D) _ b .

100, 95, 90, 85.....

eremp Qgmireuflensuden 21eus) o pioiLy erénen?

L@ 10 | g S
B 20 ‘

© 0

D) 5

ooy 2x*-162
170. Simplify : (x2 +9) (2x—6)

@ =9
@ x+3
O 546
.(D) -6

: 2x4 -162
: L O
&@5@5t (xz +‘9) (zx__ﬁ).

B\
B) x+3
xX+6
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171. Ifthe LCM of x and y is 2, what is the H.C.Fof x and y?

| s . e =
@z | | oy
= S O W

© = |

x,y @aeummlest LB;Qurr.LD z erafléd x, y e 15.Qum.cu. eresen?

@w 2 IR A LRE T
) 2 . ) R o v . .
© B D
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